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There are 90 questions in all. For each
question four alternative answers are given
marked as 1, 2, 3, 4. From these, find the most
appropriate answer. The number denoting this
answer is there in the answer sheet against
the question number concerned. Darken the
circle with Blue/Black Ball Pen only. Record
the answers thus in the OMR answer sheet
only. Do not write anything in the question
booklet except your Roll Number on the cover
page and rough work in the space provided

for the purpose.

1. The Harappan site which is known as
the “Mound of the Dead” ?

(1) Dholavira
(2) Lothal

(3) Mohenjodaro
(4) Rangpur

2. The town ‘Ur’ is related to
(1) Egyptian civilization
(2) Mesopotamian civilization
(3) Greek civilization

(4) Chinese civilization
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3. ‘The Asiatic Society of Bengal’ was
founded by
(1) William Jones
(2) James Princep
(3) John Marshall
(4) Charles Wood

4. Who invented ‘The Spinning Jenny’ ?
(1) James Hargreaves

(2) Edmund Cartwright

(3) Richard Arkwright

(4)

4) John Kay

5. Rearrange the following in
chronological order.

a) Jallianwala Bagh Massacre

b) Ahmadabad Mill Strike

c) Second Round Table Conference
d) Non-cooperation Movement

(1) b,d,a,c

(2) a,d,b,c

(3) b,c,d,a

(4) b,a,d,c

6. Which among the following is wrongly
related ?

(1) Brahma Samaj— Raja Rammohan
Roy

(2) Rama Krishna Mission — Rama
Krishna Paramahamsa

(3) Arya Samaj — Dayananda
Saraswati

(4) Satya Shodak Samaj — Jyotiba
Phule
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7. The geographical feature of the
‘Neythal’ region is

(1) Hilly region
@)
(3)
(4)

River valley

Coastal area

Dry land

8. Examine the following statements

and identify the correct response from
the given options :

Statement | : Fatehpur Sikri was
founded by Akbar.

Statement Il : Akbar introduced the
Mansabdari system in the Mughal
empire.

(1) Statement | is true and statement
Il is false

Statement | is false and statement
Ilis true

()

Both statements are true and state-
ment Il is the correct explanation
of statement |

(3)

Both statements are true but state-
ment Il is not the correct explana-
tion of statement |

(4)

9. Village autonomy through ‘Sabhas’
was the administrative feature of

(1) Vijayanagar empire
)
(3)
(4)

Chola kingdom
Maratha kingdom

Bahmani kingdom
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10. ‘The Wardha Scheme of Education’
was suggested by

1) Mahatma Gandhi

2) Annie Besant

3) Iswarchandra Vidyasagar

(
(
(
(4

)
)
)
) C. Rajagopalachari

11. Match the List | with List Il and select
the correct response from the options

given there after.
Listl Listll
i) Johannes a) Physiology
Gutenberg
ii) Michel Angelo b) Society of
Jesus
iii) Andreas c) Pieta
Vesalius

v
1

) Ignatius Loyola d) Printing
(1) i—d ii—a ii—c iv—-b
(2) i-b ii—c ii—a iv—-d
(3)
(4)

i—d ii—c ii—a iv-Db
i—d ii—b ii—-c iv—a
12.  Who led the Revolt of 1857 at Arrah
in Bihar ?
(1) General Bakht Khan
(2) Nana Sahib
(3) Begum Hazrat Mahal
(4) Kunwar Singh

M-1
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13. The latitudinal circle which divides the
earth into two equal halves

(1
2
(3
(

Tropic of Cancer
Tropic of Capricorn
Equator

4) Antarctic circle

)
)
)
)

14.  Which one of the following is a
sedimentary rock ?

]
2
3
4

Slate
Basalt

(1)
)
(3) Marble
(4)

Limestone

15. If the temperature recovered in a
place at an altitude of 1000 metres
above mean sea level is 26.5°C, its

sea level temperature will be
1) 26.5°C
2) 33°C

3) 20°C

(1)
(2)
(3)
(4) 30.5°C

16. The layer in a partially molten state
seen just beneath the lithosphere

(1) Aesthenosphere

(2) Innercore

(3) Barrysphere

(4) Outercore

M-1
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17. The colour used to show the symbols
that represent settlements in a
topographical map

1) Black

2) Red

(
)
(3) Brown
(4)

4) Blue

18. This river flows to the Bay of Bengal
(1) River Narmada
(2) River Godavari
(3) River Tapti
(4) River Indus

19. The distance between two places
marked on a map is 5 cm. If the scale
of the map is 1 cm to 10 km, what is
the actual distance between these
two places ?

(1) 5km
(2) 10km
(3) 50 km
(4) 0.5km

20. The factor that does NOT influence

the formation of soils
(1) Climate

(2) Population

(3) Plants and Animals
(4)

4) Parent rock

M-1
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18.

19.

20.
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21. Atributary of Bharathapuzha is

(1)
2)

(
(3)
(4)
22.
(1)

Kunthipuzha
Payaswini river
Agalapuzha

Bavalipuzha

Identify the wrong statement.

The temperature and pressure
inside the earth increases as
depth increases

Inner core of the earth is in a solid
state

On the basis of their hardness
rocks are classified into igneous
rocks, sedimentary rocks and
metamorphic rocks

Disintegration of rocks occurs due
to physical weathering

23. Which of the following is NOT a
function of the Election Commission
of India ?

(1)

()

(3)

M-1

Schedules the conduct of
elections

Settles the election petitions

Appoints Polling Officers

Grants recognition to political
parties

(1)
2
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24. Which of the following is a function of
the State Election Commission ?

(1) Conducts election to the State
Assembly

(2) Grants recognition to the State
Political Parties

(3) Reorganization of State Assembly
Constituencies

(4) Conducts elections to the Local
Bodies

25. Identify the feature of the Republic.
(1) Head of the State is elected
(2) State ruled by a king

(3) A state with a Parliamentary form
of Government

(4) State with separate governments
at the Centre and the States

26. Country with an unwritten Constitution
(1) India
(2) USA
(3) China
(4)

4) Britain

27. What is meant by Constitutional
Amendment ?
(1) Making of a new Constitution

(2) Making additions to the Constitution

(3) Making additions and deletions in
the Constitution

(4) Making deletions in the Constitution

M-1
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28. The organ of the Government which
is responsible for the making of Law
(1) Judiciary
@)
(3) Legislature
(4)

Executive

None of these

29. Name the court empowered to settle
inter-state disputes in India.
(1) High Court of the respective States
(2) Supreme Court

(3) High Court outside the disputing
States

(4) District Court

30. The President of India takes oath
before

(1) Chief Justice of Supreme Court
(2) Speaker of the Lok Sabha

(3) Prime Minister
(4)

4) Vice President

31. Why is the Rajya Sabha known asthe
Permanent House of the Country ?

(1) Term of office of the members is
not defined

(2) Iltassembles all the days of the year

(3) One-third of the members of the
House alone retire every second
year

(4) Members of the House are elected
by the State Legislative Assemblies

M-1
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32.

33.

34.

35.

M-1

Which of the following is a

responsibility of the Vice President of
India ?

(1) Appoints the Prime Minister

(2) Presides over the Rajya Sabha
Sessions

(3) Appoints the Governors of States

(4) Appoints the judges of the High
Court and Supreme Court

Members of the Electoral College for
electing the Vice President of India

(1) Members of the State Legislative
Assemblies

(2) All members of the Indian
Parliament

(3) Members of the State Legislative
Councils

(4) Elected members of the Indian
Parliament

One of the following statements is
NOT true of the members of the Lok
Sabha. Identify it

(1) Elected by the voters directly
(2) Tenure of five years
(3)
(4)

3
4

Minimum age is 25 years
Minimum age is 30 years

For which of the following sections
does the Kerala Governor nominate
to the Legislative Assembly ?

(1) Anglo Indian Community
(2) Scheduled Caste
(3) Other Backward Community

(4) Scheduled Tribe
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2

(2) aIglee0w
(3) ogy alleomoss afleomo
(4)

4) algle dwo
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36. Which of the following is a scalar
quantity ?

(1) Displacement
(2)
(3) Velocity
(4)

Mass

Acceleration

37. A car travels 8 km towards East and
then 6 km towards North. The
magnitude of displacement of the car is

(1) Zero (2) 14 km
(3) 10 km (4) 2km

38. Anobject moving at 30 m/s is brought
to a halt in 15s by applying a force in
a direction opposite to the motion.
Find out the acceleration of the object
in these 15s

(1) 2m/s?
(2) 2m/s?
(3) 1m/s?
(

—1m/s?

39. Find out the pressure produced by a
force of 600 N acting on an area of
3m2.

1
2
3

4

200 pa
1800 pa
0.5 pa

(
(
(
(4) 66.6 pa

)
)
)
)

M-1

SAT

36. ®06)% alOWIMAUWIES @0oElv @ogOT
a@oem ?

(1

auadMOot o

)

(2) momy
(3) deuwmo
(4) ®oemo

37. &0} 300 8 km &l9es60530 6 km Qls
GHHOZJo B0SIMY. HHOGIONM NIMO

MO0
(1) apxio (2) 14 km
(3) 10 km (4) 2km

38. 30 m/s @ caIWE®I@ olefloj)
63061l B0y claqialle
021Gl af)®0o@]  eielo
(eWoUile] 155 VOO 66N
oo@leam  mlva1e00lAQ]GRlHs
6)5:06n8) LMY, Aty 600 15s @
HENMBOW MIOEMO BEMBEIBE)d>.

(1) 2m/s?
(2) 2m/s?
(3) 1m/s?

(4) —1m/s?

39. 600 N enielo 3m? allayldem @@
(IC@OUIH6IBMUOWD  ©ENSI LM
0dBo ag)® ?

(1) 200 pa
(2) 1800 pa
(3) 0.5pa

(4) 66.6 pa

P.T.O.
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40. Two nails are hanging from the North

and South poles of a horse shoe
magnet as shown in the figure.
Identify the poles formed at the ends
P and Q.

P Q

(1) P-North, Q-North
(2) P-South, Q-South
(3) P-North, Q-South
(4) P-South, Q-North

41. When a body is positively charged by

conduction, it has

(1) excess of neutrons
(2) excess of electrons
(3) excess of protons

(4) deficiency of electrons

42. If the angle between the mirror and

the incident ray is 40°, the angle of
reflection is

(1) 40°
(8) 50°

(2) 80°
(4) 30°

-12-

SAT

40.  ©6nE 6050V} 2 160D 630 U - @)@l

eN8s HOMOTIOM OO (U
@fleno aedlemuialediielo @yesdl
HIsonimy. ofl@o aflltoseimo

621Q P, Q ag)oml @o(@6mal@d ool
OQ|SITN (IAIETBUD BOENBEEs.

P Q

(1
2
3
4

) P-9omoWinlio, Q-9@MmoWiIo
) P-cesflemwonio, Q-aadlemunnio
(3) P-9@m0Wl0, Q-BHslemunnio
(4) P-aasflemunnlo, Q-0@mo W00

41, &m) UM MIdHeo ayelo Galomilg]

ol 210deg 621QO@d, @@

(1) ©SI®EQ] M YBESOEM (D
H6NB0:)0

(2) SR DRI B(SO6MEHUD
©6NB0dH)0

(3) BYSI®LIW] G(aI0EZ06MEHD
H6NB0:)0

(4) EDEIBHBSIMYBHBIOS @OBICO
HENB0dH)0

42.  aldajemaloe almmougleloe madlenss

3061 40° @YEEMESIMI, (I I®M

G061
(1) 40° (2) 80°

(8) 50° (4) 30°
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43. The Geographic North pole of the

44.

45.

M-1

Earth is near to

1) Magnetic South pole of the Earth

2) Magnetic North pole of the Earth

3) Geographic South pole of the Earth

(
(
(
(4

)
)
)
) Equator of the Earth

Statement - | : Sound waves do not
require medium for propagation.

Statement Il : Sound waves are
mechanical waves.

(1) Both statements are true.
Statement — Il is the correct
explanation of Statement — |

(2) Both Statements are true.
Statement — Il is not the correct
explanation of Statement — |

(3) Statement-—listrue, Statement—II
is false

(4) Statement—Iisfalse, Statement—II
is true

Which of the following is the smallest
unit of length ?

1) Fermi
3
4

(1)

(2) Millimeter
(3) Micron
(4)

Centimeter

-13-

43.

44.

45.

SAT

&30ll000 (VA IOMOI® HEBO U
@ NSYEDO6ITY

(1) cRMmOTION BolemUinlo
(2) BIEOMOETOM HEMOWRNI0
(3) @KoV lomO® BHHlemUnlo

(4) edilwes gmwjeoe

(Imoam — | 1 LOERY@OOUETBUDLHE)
ERIElH6HIM MOW Mo @AW\l
(dopoalm = Il : voeR®owEtBUD

OB > WOOUWETBROEM.

(1) @68 ([EIIIMERI0 Go@lQo6M.
(doIm — Il @ JalmOIm
@)6s oAl flvadleemmosny

(2) NS (IPIUMEGIO LOBIQIEM).
(ImoaIm — Il @23} (aImIaIm
s valwow aflvedle:emag)

(3) (ledapocm — | vodla@oem),
(almoalm — Il &®Eoem

(4) ldopocum — | emgoem,
(alapoaim — Il vodloem

®26)¢ alOoWMAII@ dlgmmslend
oo 62151 eIy ag@mosm ?

(1) &andal
(2) algllalgd
(3) ©6@E@>06MD
(4) ev@algd

P.T.O.



Class - VIl SAT

46. When a body is stationary ? 46. &y Al dilvalenalmngleng
@ 86EMIOD

(1) There is no force of gravitation (1) @ém&m&@p&@oﬂﬂm} énielo

(2) The force acting on it is not a (eoulesynilgl

contact force (2) U@ (aleoudlemm emialo
(3) There is no action of any type of &0} MMIBHE enlaing)

force (3) 80 ®OETANEs nIrIQlo

(4) The different forces acting on it Wapa (aIewouilonMilg)

balances each other (4) i@ (Ie@oullenim
adlaflw moesileyss enlelen3gd
@ol@d LATRLIN@BTILI0ARM)

47. The symbol of the element antimony
47. @o@laeml ag)(m myele-@rsle

(1) Ag (@0
2) Ar (1) Ag
(8) Sb (2) Ar
(4) Sn (3) Sb
(4) Sn
48. Which of the following is a compound ? 48.  9626800S)OASNRMAIGAD
OB AR ?
(1) Carbon (1) ®odenuend
(2) Nitrogen (2) e@eMSBRM
(3) Ammonia (3) @ocaoemiw
(4) Chlorine (4) egOdld
49. The total. number of oxygen atoms 49. C_H_0,, ag)m MOR0@OIAI0I088
present in two molecules of cane AIERUTIOO@IOS OENE O(BB6) @D
sugar with the molecular formula 88 BOKIRM BOREIBRIOS ag)emo
C12H22O11 (1) 12
(1) 12
(2) 22
(2) 22
(3) 11
(3) 11
(4) 33
(4) 33
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50.

51.

52.

53.

M-1

Find the wrong statement from the
following.

All atoms of the same element
show the same properties

Elements are pure substances

Hydrogen is a monoatomic
molecule

Atoms present in a compound are
different

Ethanol and Methanol can be

separated from their mixture by
1) Centrifugation
2) Sublimation

(
(
(
(4

)
3) Evaporation
)

Fractional distillation

Element that got its name from colour
1
2
3
4

Polonium
Curium

(1)
)
(3) Neptunium
(4)

Chromium

The gas produced when Zinc
granules are dissolved in
hydrochloric acid

(1) H,
(2) G,
(3) Cl,
(4) H,O

-15-

50.

51.

52.

53.

SAT

®I6)P6) H6) SO @ 663N Ol @1 @3
oMo OMAEIW (AIMPOAUM HONS
QEIE

(1) 803 oeieeole el o
60BRJ0 BBO WYEMETBUD 06|
BT}

MYEIDHETBUD 1B)RL alBIA®A
6338061

£6a0(WRM 60} afer0cRInld:
@M (@6

630} MOWBMHDOTILNRS BORETBUD
QU@ §MO6m

Qg)LOGMOGI0 HALNBMIRL0 @OOIWIOS
ol @lm@sil@d allomyo @I @leanynm

)

@M

mo@oe;merno

@oUdlds GOV BMo

lo@slad aillamio Momo aIEl o]

BI=IENS
(1) ealoesoemiwo
(2) sydloo

(3)
(4)

4

eMaisyemiwo
G(00llo

Mless @AM ©6A0BUOEEIIH6)0
i@ eldflaflojorienzodyom
QIO B0

(1) H,
(2) G,
(3) Cl,
(4) H,O
P.T.O.
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54. How many electrons can be
accommodated in the 4" orbit of an

atom ?

55. From the following select that which
is applicable to solid substances

alone.

(1) Distance between particles is very

large
(2) Energy of particles is very high

(3) Particles have greater freedom of

movement

(4) Particles remain very close to each

other

56. The acid present in Vinegar
(1) Formic acid
(2) Acetic acid
(3) Hydrochloric acid

(4) Oxalic acid

M-1 -16-

54.

55.

56.

SAT

60} @OROTIEN MORIOEOTD 6300
enflQ@d ag)® EDEIBESIEMIBHO8
HROHHOBRIM Yo ?

®I6)P6) H6) 9SO @ 663N Ol @1 @3
mlmio 6UEAIBOA@OMBTIM MO (®o
@OMYCWOR |NOW® @ O6ETNS]
BEYBn.

(1) ©6emMldrdosilsilenss @oos-elo
QSO BYSIOLI6M)

(2) eMlEHE1OS ©VVBRO QUKD
HWOM@mO

(3) BETIDdUBBE) 2IRIM MVPDOD 0
QUSOO BYSIOELI06EM

(4) &ETHBDHWD aloqo AISOO
@SYOT B B6M)

allmodildlalienss @amilouy

(1) Ganoailes @My

(2) @omEle: @Ml

(3) ©6)a0GWIEEHICIE: @MVl

(4) &omauoelles @il
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57. The metal present in Chlorophyll

58. Which colour is imparted to flame by
sodium compounds ?

(1) Yellow
(2) Brick red
(3) Lilac

(4) Green

59. Which of the following are isobars ?
(1) "3C,"¢C

12 13

(2 5B, 5C

36q 37
169 17C]

40 5, 40
1gAT, 19K

M-1

-17-

SAT

57. a0@lmd-@5@8 @sSenslfdleanymm
BEI0a00

58. GMOAI@o Mo@IBMETRUD &20RIQ)
MY BlOORNT) ?

(1) oevm
(2) 2isIE3eSs ajala]
(3) e6rIrINH

(4) olo

59.  ®26)96)06)0S)®Y0]l 6@
£)2§)BTVOENUOONIBHRD @) ?

(1) 3C.":C
(2 "B, "3C

36q 37
165, 17Cl

40 o, 40
18Ar, 19K

P.T.O.
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60. Which one of the following is the
correct set of examples under the
particular group ?

(1) Monera  — Cyanobacteria,
Azospirillum,
Penicillium

(2) Protista - Amoeba, Bacillus
Euglena

(3) Fungi — Rhizopus, Fern,
Yeast

(4) Plantae - Mosses, Algae,
Azolla

61. Which is not an amphibian ?
1) Tortoise

2) Salamander

3) Frog

(1)
(2)
(3)
(4) Newt

62. The branch of a jasmine plant is
covered with soil and supplied with
water to produce roots. This technique
is called

(1) Scion-grafting
(2) Bud-grafting
(3) Layering
(4) Cutting

M-1

J

-18-

SAT

60. ®oeY ®MIgI8sAIQI® VClWOW
©B2a0METBWD HReA|SISIes qvall
8uoay Qfl@dwio aR® ?

(1) emoemilo  — qv@oemosnioldl,
@ENVITVEI]Ro,
easmlnvlelao

(2) Gaslgy - @oalen,
ey,
wygglm

(3) OBMYBIB— HOOCTVIQITV;
alnd, gy’

(4) gjoeqd —  GROYHB,

@D O3D6-0D,
@0CNVIS

61. pewHlal @ogEmED® ?
(1) eon
(@)
(3) maus
(4) g

VRINIRD

62. GO MBRIMOW Myele oISl
WOS 630} LIELWIE L6 O lowilerTIs
OAUSRo ME].2J10B>05)89MM @@
@o6m

(1) M8 a5lendd
(2) B8 BSlHHED
(3) alaflai@ad
(4) ecuglaima
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63. The inner lining of the mouth, nose,
lungs and stomach are made up of

(1) Connective tissue
(2) Epithelial tissue
(3) Muscular tissue
(4) Nervous tissue

64. The veins present in leaves are

(1) Simple tissue
(2) Collenchyma
(3) Parenchyma
(4) Vascular tissue

65. Pavo Cristatus is the scientific name of
1) Elephant
2
3

4

Dog

(1)
(2)
(3) Peacock

(4) Crow

66. Which one of the following pairs is

correctly matched ?

(1) Xylem — Transport of food
(2) Phloem — Transport of
water

(3) Sclerenchyma — Storage of starch

(4) Meristem — Actively dividing

cells

M-1 -19-

63.

64.

65.

66.

SAT

QOW, DB UDOAVEEHIU0, HBMO
af)(MI@es HREIE ©6rmoHs)]
DA BERM®

(1) VoBWIWH> el
(2) agafomvlelwmd el
(3) Galwdl del

(4) moawll Bel

EDRIE] @ B:06MIM AVl BUD

(1
2

) ISl®d:Lld(D
(2) €EOBMOOBD]
(3) aloEM6)6)BHM
(4) qVoCLAOM dHLIBTD

aJOBQD (BIGYILTV af)(MN@) @OOYOS
LoO(MODMO6T) ?

(1) @om

(2) mow

(3) oxil@d

(4) B0H6

@M@l cegoullessll@d vodlow]

WOl aflgiagem® ?

(1) eemvelo — @HHU6M
alBoA®mAOETBUD
QUadle6m)

(2) @qQowo — &elo
UaSloeymm

(3) miglom eewa — @oMeo
GUO6U®M_2))
Q@M

(4) enadlgyo — allegm
SUDOQIES
@O UVETBUD

P.T.O.
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67.

68.

69.

70.

M-1

Identify the character that is unique
to animal cell.

1) Presence of vacuole

(1)

(2) Presence of centrosome
(3) Presence of cell wall
(4) Presence of plastid

The part in a compound microscope
that helps to regulate the intensity of
light

(1) Diaphragm
(2) Mirror

(3) Obijective lens
(4) Eyepiece

In a flower, the male gametes are
formed by the division of

1
2
3
4

Pollen grain
Generative nucleus
Tube nucleus

Polar nucleus

(1)
(2)
(3)
(4)

Scientific cultivation of fruits and
vegetables

(1) Sericulture
(2) Floriculture
(3) Horticulture

(4) Pisciculture

-20-

67.

68.

69.

70.

SAT

LATCE0NDTIB MO (@0 BI6MM
VJEOQU6Mo

(1) Ganm@slong aqvomilwjo

(2) eavadesocmodie qvoailw o
(3) e@movclEmil@ins avomilw o
(4) gdogdlafled cvoailw jo
BHOMUVENE OONGE(0EMVOA @D

(1000 @BIOM @U® (]
HHIM MO HEINM BOWO

(1) awwno

(2) Bdqemo

(8) &mim®msslal erindmy
(4) eagaflmy

80} ajallad, Ly

aflegm@layaswosm aoenile

630D HENMBILLMN®
1) alEOMEEM)
2) gmeoglal adomo

(1)
(2)
(3) syeni mdomo
(4) W odomo

al¥o, alajoedl ag)mial ool
20Q] dryeddleaigpom @l

(@) eaVdleudod

(b) @qQoClEUd o

(©) BaOIASBUD 2D

(d) adloSlesd oy
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71.

72.

73.

74.

M-1

24446 divided by a number gives
quotient 79 and remainder 35. What
is the divisor ?

(1) 307
(2) 308
(3) 309
(4) 310

What is the smallest number by which
254800 must be multiplied or divided
to get a perfect square ?

) 1

(1
(@) 1
(3) 1
(4) 1

Which of the numbers below have
exactly three divisors ?

What is the remainder you get on
dividing 132 + 1 by 12 ?

(1) 1
(2) 2
3 3
(4) 4
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71.

72.

73.

74.

SAT

24446 6M 630} MVo6L Y 6)0NS)
a0@l-2J6aotd adEeManelo 79 o,
Udlaio 3500 Bl aR®) Vo6
E)B0NB06M aO@] 2@ ?

(1) 307
(2)
(3)
(4)

309
310

254800 6" agig0lio 621Gl of®)
Vo6 6 06N a0 @ H6) o E WO
YOI BB 6).21QYOILIOET) B30]
aj@emadwo &g ?

(1) 11

2ROIOSIBR Vo6 |d-&l@ o]
(NG di®J0 AN CLISEETBRIRAD) ?

1) 81
(2) 100
(3) 121
(4) 144

132 + 1 &M 12 630618} a0 240w
B Uilao ag)amoem ?

(1) 1

(2) 2

(3) 3

(4) 4
P.T.O.
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75. The sum of two powers of 2 is 160.

1 1
76. Whatis =+—+—=-+—+

77.

M-1

What is their difference ?

1,1, 1,

2 4 8 16 16

g of a number is 4 more than % of

the number. What is the number ?

SAT

75. 2 60 0618} HBilda1es @H> 160
@O6IM). @OCUWIOS OLY® OV
ag)amoem’ ?

T 1 1 1 1 .
+_+_+E ag)®m@oem ?

— 4+ —
7e. 2 4 8 16

4 3
77. 80} MRS = 8O0, , B

5
BOMHNIUD 4 HYSIRIOEM). Vo6

ag)amo6m ?
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1
78. When 15 Ii3tres of water is poured into
a vessel, Z of it is filled. How much
more water in litres, is needed to fill it

completely ?

Ao

(1)

W=

(4)

AW N=

1 R
79. Given —— =0.3125, what ?
Ven 35 What!s 5032
(1) 0.003125
(2) 0.03125
(3) 31.25

(4) 3125

80. Given J4489 =67. What is

\/44.89 +/0.4489 +/0.004489 ?

(1) 67.737
(2) 7.437
(3) 6.8337

(4) 67.437

M-1

-23-

SAT

78. 80} alo(®@0i@d 11 ellgd ealggo
2 3
8¢ ojeajod @ocien 7 ©oWo
floemm). ald@o a0 (oo
il ag)® elnd eaigsoe alonemo ?

Ao

wl—

AW N=

79.

af) @M ?
(1) 0.003125
(2) 0.03125
(3) 31.25

(4) 3125
80. /4489 =67 @O6M.

\J44.89 +1/0.4489 ++/0.004489
af) @@ ?

(1) 67.737
(2) 7.437
(3) 6.8337

(4) 67.437

P.T.O.
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81.

82.

83.

84.

M-1

If all sides of a square are elongated
by 10% to make a larger square, by

what is the percentage increase in

area ?
(1) 10% (2) 20%
(3) 21% (4) 100%

Milk and water are mixed in the ratio
4 : 1 to make 50 litres. How much more
water is to be added to make this ratio
2:17

The sum and difference of two
numbers are in the ratio 9 : 2. What s

the ratio of the numbers ?
(1) 2:9 2) 11:7

3 1:7 4) 7:1

A batsman has an average of 36.5
runs in 10 innings. How many runs
should he get in the next two innings
to make the average 40 ?

(1) 100
2) 110
(3) 115

(4) 120

-24-

81.

82.

83.

84.

SAT

60} TVAL2IERODHEND QLWETBORLI00
10% 0llgo oygl el avooloyo
@0HEI@OED, aloa BT ag)® Ld®@IM

&Ysio ?
(1) 10% (2) 20%
3) 21% (4) 100%

aloglo &8s lo 4 1 1 ag)0m @oowd
enInL@BD eoid@m 50 Algaoss).
)@ elgd eaegllo &Sl Gald
@5 6010 @OUIENIMUO 2 1 1 @310 ?

2) 10
(4) 20

6N} (MVOGLJBHRIOS @Yo QLY@ |0
Qo monilepss @ovoenimuo 9 : 2
@EN). V6L |5:0d @ONRNRE @oowoeN.
Mwo ag)amoem ?

(1) 2:9 2) 11:7

3 1:7 4) 7:1

80} (Bl B&le6H00M 10 enmilowy
36.5 oenday
Qg)SIO| SJENS. @OSIE® ©6NS
e0NTMloIVIE @YEH> ag)@® Oy
Q§)SIOMI@ VoD@l 40 @D ?

MJenal vt

(1) 100
2) 110
3) 115
(4) 120
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85.

86.

87.

88.

M-1

In a calendar, a square containing
four numbers is marked and the
numbers are added. The sum is 44.
What is the smallest number among
them ?

Mother’s age is now 4 times Appu’s
age. After 16 years, mother’s age
would be 2 times Appu’s age. How
old is Appu now ?

(1) 6
(3) 10

(2) 8
(4) 12

If 3**Y =9 and 3% * =81, what is the
number x ?

(2) 1
(4) 3

In the figure, a line parallel to the side
AB of triangle ABC meets the other
two sides at P and Q.

How much is ZPQC ?
(1) 40° (2) 60°

(3) 70° (4) 80°

-25-

85.

86.

87.

88.

SAT

630} HHRIENSCIM MILY MVOo6 |BHERE
60 NVO2IM00 BOSWIBOQ SO,
@GO Vo6 JHORLI00 B
Cajowd 44 #1g). @palQileal apyrallo
62131Q Mok ag)Tmoe) ?

(1) 7 (2) 8
3) 9 (4) 10

@D WIOS (JOWo, @oaiallen
(o@@Dlle 4 msewBoem. 16 Qudato
BFIEMIUD, BOORWIES (1000, @roa )
afleo ploadilen 2 nsemEod:o.
0G0 @oalillon) (oweammd
em ?

(1) 6
(3) 10

2) 8
(4) 12

3+Y=9603% =810 BO6OHEMN:I@D
X ag)0M (Vo6 ag)amoe ?

(1) O (2) 1

() 2 (4) 3

oflmesld, ABC ag)om (@@H06m
@oileal AB ag)om clte@msim) avmoam
OMOW 6@ QUG ML M6NS) QLCETBOS
P, Qagaml endlazieesl@d mygiomy.

ZPQC og)® auflIlwoem ?
(1) 40° (2) 60°
(3) 70° (4) 80°

P.T.O.
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89.

90.

M-1

In the figure, ABCD is a parallelogram
and BEC is anisosceles triangle. How
much is £ZBCE ?

D C

110°

(1) 40°
(2) 50°
(3) 60°
(4) 70°

The figure shows a regular pentagon

What is the ratio of the angles of the
shaded triangle ?

(1) 1:1:2
2 1:2:2
(3) 2:3:3
4) 2:2:3
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